[image: image1.png]Complete the following statements to show whether each cost s classified as capital or revenue expenditure.

The cost of extending the adminsiratve offices is [capital expenditure [l
The cost of replacing worn outtres on delivery vehicles is [revenue expenditure [l
The cost of stationery s [revenue expenditure [l





CBA Practice model answers


BTX FA2013 – Practice Test 1
Section 1
Task 1.1
[image: image23.png]PARTNERSHIP INFORMATION

If the partnership business includes a trade or
profession, enter here the accounting period

for which appropriate items in this statement

are returned.

Start

End

Nature of trade

01104113

3103114

Plumbing

MIXED PARTNERSHIPS

Tick here i this Statement s dravin
up using Corporation Tax rules

Tick here i his Statement s crav up
sing ax rles fo nor-esidents

H



 

Task 1.2
[image: image2.png]Complete the computation. Do not use minus signs or brackets to show negative figures.

|Proft 152195
[Costoffencing 25380)
[Costotwine 4500|
[Customer entertainment 920)
[Pepreciation 194210
[Fegal costs for tax appeal 8410|
[Total added back 231420

[Capital allowances 107750
|Adiusted trading profits 275885




 

Task 1.3
[image: image3.png]Yulong started trading on 1 January 2013. He made up his first accounts to 28 February 2014.
His taxable profitfor the period ended 28 February 2014 was £105,550

(a) State the basis period and the amount of overlap profitin the table below. Complete the dates for the
basis period by selecting a day from each calendar window and entering the year in the format YYYY
(e.0.2013) in the adjoining box.

Basis period Basis period

start end

Tar TF] 207 SR ] 20 7540




  [image: image4.png]Precious ceased trading on 31 December 2013.

Her taxable profits have been as follows:

* Year ended 31.July 2010 £32870
* Yearended 31.July 2011 £44,950
* Yearended 31.July 2012 £30575
* Yearended 31.July 2013 £24785

« Period ended 31 December 2013 £9,680

‘She has overlap profit of £8,450

(b) State the profit for the last three taxable years of trading.

Tax Profit
20112 44980
201213 20575

201314 26015






Task 1.4
[image: image5.png]Charleston Ltg has the following results and a claimis to be made to offsetlosses against total income

(a) State how the loss for the year ended 31 August 2013 will be relieved, assuming earfiest possible relief.
Do notuse brackets or minus signs to indicate any negative figures.

Trading profit/ (loss) 15.470) (19,020)
Rental income 3120 2,685
Total profits 18,590 of
Less offset 16335 2685|
Total taxable profits 2255 0|

(b) Losses carried forward to year ended 31 August 2014 are: £ 0





Task 1.5
[image: image6.png]‘Simon, Susan and Sharon are in parinership with an accounting year ending on 30 November.
‘Simon receives a salary 0f£18,700 per year. From 1 March 2013 Susan received a salary o £19,600 per year.
‘They receive interest on capital as follows:

Simon 25000 4
Susan 200000 3
‘Sharon 12000 5

‘They share profits as follows: 50% to Simon, 30% to Susan, and 20% to Sharon.
‘The taxable profitfor the year ended 30 November 2013 was £57.200

‘Show how the division of profit would be calculated.

Salary 15700 14700 0

Interest on capital 1,000 500 600

‘Share of profits 12300 7380 4920





Task 1.6
[image: image7.png]During the 15 months ended 30 September 2013, Creston Ltd had the following results:

Adjusted profits Accrued evenly throughout 733,500
Gross bankinterest | £1,250 per month is received 18.750)
Gross dividends | Received on 17 September 2012 10,900]
Gross diidends | Received on 21July 2013 4,900
Chargeable gain | Disposal occurred on 15 March 2013 22.830)
Gitaid Paid on 14 December 2012 4440
Gitaid Paid on 3 August 2013 5.120)





[image: image8.png]During the 15 months ended 30 September 2013, Creston Ltd had the following results:

Adjusted profits | Accrued evenly throughout 733,500
Bankinterest | £1,250 per month s received 18.750)
Diidends Received on 17 September 2012 10,900]
Diidends Received on 21 July 2013 4,900
Chargeable gain| Disposal occurred on 15 March 2013] 22.830)
Gitaid Paid on 14 December 2012 4440
Gitaid Paid on 3 August 2013 5.120)

‘Show the figures that would be used in the tax computation for Creston Ltd for the SECOND accounting
period ONLY. If your answer is zero, enter 0.

Adjusted profts 146,700
Bankinterest 3750
Dividends 4900
Ghargeable gain o
Gitaid 5120





Task 1.7
[image: image9.png]Calculate the total capital allowances for the ten month period ended 31 March 2014, clearly showing the
balances to carry forward. You have been given more space than you will need.

General Paol €] Janalhan's GarE|  Sales Car® Hiowg]
Bwa 265190 26060 7330
00%FVA
[Eauipment w2970
Disposal 8320
196870
m
Wachinery 27560
m
250000 % 1012 2835 19227 2835
216097
WD 18% x 012 32415 32415
IWOA 8% x 1072 a7t 7310
IWOA 8% x 1072 115 115
WDV T83.562] %18 76175
Total alowances 26183






Section 2
Task 2.1

[image: image10.png]‘Show whether the following events would resultin the asset being chargeable or exempt for Capital
Gains Tax purposes by dragging the correct answers into the table.

Destruction of an asset || Chargeable asset

through fire.

Disposal of an asseton || Exemptasset
the death of the taxpayer

Answer options:

Chargeable asset | [ Exemptasset






Task 2.2
[image: image11.png]Jules sold antique desk in December 2013 for £175,800. The desk had been boughtin January 2005 for
£87,620 and in April 2010 she Spent£8,600 on improving the desk. During the nine years of ownership, Jules
had spent £6,800 insuring the desk In July 2007 she had spent £2,800 on repairs afer her dog had chewed
one of the desks legs.

Calculate the chargeable gain on the disposal of this asset. Do not use brackets or minus signs.
Ifyour answer is zero, input 0.

Original cost

Costof improvements.

Costofrepairs

Costofinsurance.






Task 2.3
[image: image12.png]'Daphinal Ltd bought 15,000 shares in January 1999 for £47,500. In July 2002, there was a rights issue of 1
for 10 shares held at £2.10 per share. In October 2008, there was a bonus issue of 1for 20 shares held.
In December 2013, Daphinal Ltd sold 8,000 shares for £42.400.

Indexation factors were:
January 1999 to July 2002 0076
January 1999 to October 2008:  0.332
January 1999 to December 2013 0573
July 2002 to October 2008: 0238
July 2002 to December 2013: 0461

What is the gain made on these shares?



[image: image13.png]No of Shares Costz|  InderedCosts]
[fanuary 1999 Purchase 15000 47500 47.500)
[ouy 2002 W_0078 3610
51,110
Righis issue 1500 3150 3150
16500 505650 54260
[octover 2008 Bonus ssue 25
17325
ecember 2013 W_04s1 25014
70274
Disposal 8000 23388 36.606)
0325 27.262) 42550
Proceeds 22400
cains 6008
[Costs 5794





Task 2.4

[image: image14.png]For each of the following statements, tick to show whether they are true or false.

Tue  Faise

Limited companies can claim the annual exempt amount

Bearice gave her son, Johann, a flatin Edinburgh which had cost£268,300 in 1998, The market value at
the date ofthe giftwas £589,000. Johann's deemed costis £589,000.

Vaughan has made capital gains of £17,600 in 2013/14. He has capital losses brought forward of £8,650.
He will have used all of his Iosses brought forward and have an unused annual exempt amount of £1,950.

Wang has not previously claimed for entrepreneurs relief. During 2013 he sold his business for a gain of
£750,000, against which he wants to claim entrepreneurs relief. Al of the gain will be taxable at 10%





Task 2.5
[image: image15.png]Francis sold a factory unit on 1 January 2012 which made a capital gain. He is now wanting to sell some
office accommodation.

(a) Complete the following sentence by selecting a day from the calendar window and entering the year in
the format YYYY (e.g. 2010) in the adjoining box.

Ifhe wishes to roll over any gain on the sale of the office accommaodation against the sale of the factory unit the.

Iatest date on which the ofice accommodation can be soldis [ 19an =] 2015

Nelly sold a shop on 1 June 2013.

(b) Complete the following sentence by selecting a day from the calendar window and entering the year in
the format YYYY (e.g. 2010) in the adjoining box.

‘The dates between which a new qualifing asset must be purchased for a claim for rollover relefto

be made are Tn ] 22| ang s





Task 2.6
[image: image16.png]‘Tony, Trevor and Tyron are in partnership sharing profits 40%, 40% and 20% respectively. Tony receives an
‘annual salary of £35,000 and Tyron receives an annual salary of £18,000. The profitafter salaries for the year
ended 31 March 2014 was £19,000.

(a) Complete the following table to show total Class 4 NI contributions payable by each partner in 2013/14.
Give your answers in pounds and pence. If no contributions are payable, enter 0.

Tony 308555
Trevor 0
Tyron 126408

(b) Complete the following sentence. Give your answer in pounds and pence.

In 2013114, Tyron will pay Class 2 NI of: £ 140.40






Task 2.7
[image: image17.png]Yulong has been trading for many years. His total tax liabiliy for the past few years have been agreed as:
201011 £14500
201112 £17300
2012113 £21450

‘Complete the following boxes.

31 January 2013 11450
310y 2013 8650
31 Janvany 2014 14875
310y 2014 10725





Task 2.8
[image: image18.png]A company has the following information for the year ended 31 December 2013:
+ Taxable total profits are £614,600

« Dividends received (net) are £50,580

« The company has one associated company.

Calculate the marginal relief that would apply for the two finance years.
Round your answers to the nearest pound if appropriate.




[image: image19.png]Acompany has the following information for the year ended 31 December 2013;
+ Taxable total profis are £614,600

+ Dividends received (net) are £50,530

+ The company has one associated company.

Calculate the marginal relief that would apply for the two finance years.

Marginal relief for Finance Year 2012

153,650

11100 % 167,700

167,700

Margin

460,950

30400 x [ s62500] ~ [_503.100] % 408

503,100






Task 2.9
[image: image20.png]Tick the correct box to show whether each of the following statements is true or false.

When applying a penalty for errors made in a tax retum, HURC would consider carelessness as being
where the taxpayer has planned to misinform HURC.

Tue  False

I3 company with an accounting period ended 31 December 2013 files s tax retum by 30 September
2014, itwill not incur a late fling penalty

A self-assessment return for 2013/14 cannot be amended once filed.

A company must keep all records relating to information in their tax retums for six years from the end of
the relevant accounting period.

Onlyinterestis charged when balancing payments are paid late.

HMRC can correct obvious errors made in corporaton tax returns within 12 monts of the fiing date.





Task 2.10
[image: image21.png]Partnership's profits, losses, income, tax credits, etc.

Tick this box f the fems
entered i the box had

foreign Lax taken off

» for an accounting period ended In 2013-14 ¥

T — | |

442878,

from box 382 Adjustment on change of basis

from box 384 Loss from a rade or profession [ |[[EY ¢

® for the period 6 April 2013 to 5 April 2014*

om box 734 YK tancd nferest and e arratve 2 | 2550

oy il made by conctrs EX]

from box 398 Other tax taken off rading income m

from box 788 Income Tax taken off . 520
4000

from box 3,117 Partnership charges
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